
A
G

 S
Y

ST
EM

S,
 IN

C
.

C
A

PS
TA

N
Si

nc
e 

18
93

A
PP

LI
CA

TI
O

N
 S

Y
ST

EM
S 

FO
R 

PR
O

FF
ES

IO
N

A
LS

Sh
ar

pS
ho

ot
er

R

PW
M

%
O

FF
PS

I

7

8 - Orange
7 - Red/White
6 - Violet
5 - Green/White
4 - Yellow
3 - Gray
2 - Black
1 - Red

To "VSW"
Solder Red/White Wire

To "D1X"
Solder Orange Wire

V
S

W

D
1X

  DB 9
2 - Black
3 - Green
5 - White

6789

12345

  DB 9
2 - Black
3 - Green
5 - White

14

6789

12345

1614 15
8

Enter Defaults via. Hyperterminal 
Program:  051409.hex
Program PIC using Atmel and

Stand-Off Detail
7

1011

8

Knob Detail

43

shown.
w Stem-Flat as
Align Set-ScrewSet SW1 = 9                    4=off

                    3=off
                    2=off
Set DIP S4: 1=on

       4=on
       3=on
       2=off
Set DIP S1: 1=off

Using Serial Port
       R51 = 3
       R50 = 2
Set: R49 = 8

R
51

R
50

R
49

S
4

S
W

1
S

1

board.
and around circuit
Route wires under

relief.
to back plate for strain
Zip tie harness trunk

13

6

1110

7
To Power "-"
Solder Black Wire

To Power "+"
Solder Red Wire

To PRES. TXD. "P"
Solder Gray Wire

To "odd"
Solder Green/White Wire

To "even"
Solder Yellow Wire

to "DI2"
Solder Violet Wire

8-Pin Connector
Switch Assy. to
Connect Rocker

14-Pin Connector
Switch Assy. to
Connect Rotary

DI2 - +

P
-

TXD
PRES.

POWER

+ -

odd

even

12

1711

9

1

10

6

5
43

2

8

B
A

1 716008-103 Box, Cab Control, SS 1
2 118500-041 Decal SharpShooter, Horizontal 1
3 Knob, Skirted, Round 1716175-001
4 Switch Assembly, Rotary 1118500-010
5 Switch Assembly, Rocker 1118500-020

1118500-1296 Cable Assy, Pulse Gen. Turf
7 118103-002 PCB Assy, SharpShooter II 1

Plate, Back118500-030 18
Screw, 10-32 x 3/8, SS709031-804 49
Screw, 4-40 x 1/4, SS708992-101 610
Standoff, 4-40 Hex, x 5/8 611 706520-105
Fuse, 10A12 Ref705725-134

13 Tie, Cable, 8" 715040-176 1
Cable, 4 Conductor, 22Ga.14 9708000-138

15 120140-006 1DB9, Backshell
16 120140-007 1DB9, Connector, Female
17 709031-806 3Screw, 10-32 x 1/2 SS

BLS 4/9/15 Pulse Generator
 Turf, Horizontal

118500-102 A

A 1046 Production Release 4/9/15 BLS

     For Diagnostic
  use only

Notes:

 1.  Label as Required.

1.  

O
pe

n 10
0

70

6050

30
20

10

C
lo

se

40

80
90

APPLICATION SYSTEMS FOR PROFESSIONALS

Rev   ECR                    Description                            Date       By   AppPROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

SCALE:

SIZE

None
B

Item Part Number Description

REVDWG No:

TITLE:Name Date

Drawn

Checked

QA APP

4225 S.W. Kirklawn Ave., Topeka, KS 66609
CAPSTAN AG SYSTEMS, INC.

Qty

SHEET 1 of 1

AG SYSTEMS, INC.
CAPSTAN

Since 1893


	Sheet1

